1. Quantuwm Mechanics (Fall 2002)

A Stern-Gerlach apparatus is adjusted so that the z-component of the spin
of an electron (spin-1/2) transmitted through it is —A/2. A uniform magnetic
field in the x-direction is then switched on at time £ = 0.

(a) What are the probabilities associated with finding the different allowed
values of the z-component of the spin after time T7

{b) What are the probabilities associated with finding the different allowed
values of the X-component of the spin after time T7
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